r——
E=s

==

o = A T
- FiN k=g
E et TN

(—) fREENR:
a) fREER

(=) 10 Epyissisges

15 R

F/ST11/005

=1

Gk ey

BREARL ¢ 5935 AK
i) RERAE 3 AX
ii) fEEEHE 7 HXK
iii) BREILLER : 34%
i bl EE Ho -
IR | S
oA 74 74 0
R 7 7 0
BIR 3 3 0
BFER 0 0 0
BKHFEK 30 30 0
AROER 26 26 0
i 1 1 0
1] 1 1 0
fiteE 1 1 0
EFRBK 11 11 0
BB R/ 14 14 0
L 15 15 0
EYEY 0 0 0
EE 0 0 0
BRI TES 5 5 0
F% 0 0 0
FEVIHEI 1 1 0
RHHARSR 1 1 0
HAZRS 7 7 0
RNILKE 19 19 0
B AR 34 24 0
BINEH 0 0 0
&3t 250 250 0




000049z | 0005SeL ] $9920'69 | 69°€10'Wy | 9zssier | 9z sor'or | 9z sosee | 925066 orsste Jorssize Jorzesor Jvizicoe | vieesos fvizeoor | vieicee | viceory | iyt | orzeesy
00°00¥" 00'0SE'T 00056°0 00056 00056 00°05¢ 000S¢ 000S¢ 0008S°T 00°009 00009 00009 00009 00009 00009 007009 00°000°¢ NN
00°00F" 00°05€'T 000560 0006 00056 00°0SE 00°0S€ 00°0S¢ 00°05S'1 00009 00°009 00009 001009 00009 00009 00009 00000 HRYNEH
e 0000 00051 00001 00001
00058 or'e 000091 e e e e e e e e e e e e e 443
00008 00°L1 0010091 00°L1 00°L1 00°LT 00°L1 00°LI 00°LL P8'€8C 88'€8C 88°€87 88'€87 88°¢87 88°€87 88°€8C 88'€8T
00000 SL'8YE SLTLE'S SL'89¢ SL'89¢ SL'89¢ SL'89¢ SL'89¢ SL'89E SL'89¢ SL'89¢ SL'89¢ SL'89¢ SL'89E SL'89¢ SL'89E SL'89E
THETHVET
SHEFIYI S+l 00°007')
00°08H'S THIHIOO
SHF01 00'00F6 S+l
000SH'S Byl aot 00°0SL'S
S+dL EHEIQ9T | Meast 0000S'€ et 05T
0005k 000001 | 00°000°L ovoosor [ | ovoory | oooozs
SHE 40T ST (Sx:(4 eizd HIOVT L:fed S AR
83: 000576 00°0SL'S 000SL'S 00°005°€ 0000671} 00005° 00°0SH01 , (D HA W
00000
00000
0000£°CT
00°00L9Z 000068
0070006 #
00°008'LT
00°008'8¢
007008 b1 il
000058
00'0SL'€T
00°008'sT ] e
007008 VR D W AR
0010086 Bl iﬁfk i &‘zn
00008 W
007008
0000L'T
LS8TLT LS'8TLT LS8TLT LS'RTLT LS8TLT LS'8TLT LS'8TLT LS'RTLT LSBTLT LS8TLT LS'8TLT LS'8TLT LS'8TILT 65°82LT o 8
0156 0S°LE6'S 0S'LE6S  J0SLE6 1 0SLE6'S 0S'LE6'S 0S°LE6°S OS'LEG'S 0S°LE6'S 0S'LEG'S 0S°LEGS 0S'LE6'S 05'Le6S  J0SLE6S
NE Lol ] [ SRS RO [l [RelE [RIIIZE [ T [FAREE SRR HESA i [l % -
GH-177%7 : (HEZBUBNODBEhEIEE AT R R B G R



